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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-1I Examinations, 2016

PHILOSOPHY-HONOURS
PAPER-PHIA-IV

Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. Candidates should answer in their own words and adhere to
the word limit as practicable.

Answer Question No. 1 and any six taking two from each Group A, B, C.
> e @3¢ Trem %, <, a4t i 7f6 T Fnw (ol gwfd e T e
1. Answer any five questions from the folibwing: 2x5=10
fAsfefe @-conar 577 et ea fom:
(a) Symbolized the following:
OIS e
(1) p is the sufficient condition of q
p -7 #iie
(ii) pifand only if q
p I @ @@ 4% g
(b) Why are all tautological statements logically equivalent to each other?
RS W] A (@ 21917 (T Ty
(c) What is meant by ‘argument form’? Give one example.

& QR FE A=T? a3 Swiggel e
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(d) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram.

All students are intelligent and all intelligent persons are philosophers.
ﬁm@mmﬁrmwmmmmm
T RN 2 IR G2 S i s oy e
(¢) What s a truth function? o
TS P Ty .
(f) State the rule of Universal generalization.
e STt et S S weew)
(&) Why is truth tree method called a decision procedure?
TP T o e o1 7t 23
(h) Give the form of the Method of Residues.
AR 1 W et
(i) What is Ad Hoc Hypothesis?
(T @R I 3y
() What is the Product Theorem of Probability?
TERIOTY GTET 7T IS R @RI

Group-A
et

2. (a) Distinguish between exclusive and non-exclusive ‘disjunction’ with the help
of examples,

Brreaeriz RoRait © Wikt ey o NPT P |
(b) Explain the following statement in brief: ,
“The negation of a tautology is a self contradictory.”

‘masﬁw:w@ﬁmﬁmmwﬁm T 1= IR OfSMB p1et 72w
2
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(¢) Determine whether the following statement forms are tautologous, self 343
contradictory or contingent by means of truth table.

O HRCY Aeoa AR Fo: 797, To: ey at weifes ot e v
() [po@vrl=(p2g)v(p>r)
i) ~[(p29)>(~4>~p)] |

(d) Test the validity of the following argument by truth table method:

If West Bengal suffers a severe drought then if Punjab has its normal rainfall
then Hariyana’s water supply will be greatly reduced. Punjab does have its
normal rainfall. So if Hariyana's water supply is greatly reduced then West
Bengal suffers a severe drought.

fRaffe Ifefe ! sromRe e TR fdk 2;

A AfFswRRE @ 2 o I e TR 3fRore w eige FREmm o
FREAE Y% T A LieE TR 3Bee 211 gear 1 Ran e
@ O AR 47 3

AF S

3. (a) Construct formal proof of validity of the following arguments (Do not use 3x3
CP.orLP)

mmﬁam@mmﬁw@ P.aLP. A2 FA I )

) (Rv~R)DW /. W

(ii) A/..Bv~B

(iii) Socrates was a great philosopher. Therefore, either Socrates was happily
married or else he was not.

mmmwm. waﬂwfﬁﬂﬁ?m@m@ﬁm?
3t 72 fogaw A
(b) Prove the invalidity of the following arguments by the method of assigning 3+3
truth values.
FETE W w7 W Frae erafen s e ww;
(i) Mo>(NvO)
No(PvQ)
Oo5R
~(RvP) li~ M

Tum Over
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(ii) (SvT)o(S 5~T)

(3 o~T)a@ 5K) |
SvrT LAog
é
4. (a) What is counter example? Explain with examples | 4
TRIZA SR I TR 770 761 | '

(b) Use truth tree method to test the vahdxty of {bg ﬁa&!ﬂmug arguments. : . 4+4

M (UeBy3C ;f;
~B—(CvD) | :
(i) We shall swim evcn if it rains. ’Iherefore . §;
(¢) Apply the truth tree method to determme - ! faﬁuwmg set of : 3
sentences is conswtent. o e
Wmmmﬁﬁﬁmmm T
(P
-PeQ
Pe-0

5. (@ Explam the method of Indirect proof as a method of pmvmg an argumem),:,;ﬂ e 4

(b) Prove the vahdxty af the followmg argumen‘ 4 ¥
LP. o sty fofer I
(~X-Y)oT

(¥ >T)>8

~ X 1yl B
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(¢) Use the method of conditional proof to prove the validity of the following
argument,

AP TRE et ﬂmmﬁﬁ%mw@wmi
EoS
EDE SN
§D(N>F)
GEDF

(d) Use the methbd of Indirect Proof to verify that the following statement is a
tautology.

mmmqummﬁwﬁmwﬁwzm:
471 BvilioO)

Group-B
Rret-2

6. Test the validity of the following arguments by Venn diagram indicating the
mood and figure of each of them.

(a) No snakes fly. Some snakes lay eggs. So some creatures that lay eggs do not
fly.

CPIR AM1R 6T 1 7 151 T o410 1 3ok vt oy By o *IICT, &Tg A1
(b) All bridge players are people. All people think. So all bridge players think.

7 e CAEAANGE T 1 7 s e TSR R e e e
(c) All that glitters is not gold. This ring glitters. Hence, this ring is not gold.

T DFHE TG G 7Y | 9 AR 5ove 37 oK @R BT o

2105 " 3
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7. (a) What is meant by ‘existential import’ of categorical prepnsmons" 5
Raters aotae “aRIPpE St 7ee FI @RIE
(b) Explain why, according to modern logicians, AAI is not a valid mood. 4

s TR Rearives ot o A AL R ot et i 20 1 it et w1

(¢) Give Boolean interpretation of the following smtwces and represent them  2x3=6
in Venn diagram.

fsferiie e 3@ Fidie aem s mmwm
(1) Mermaids do not exist.
SR GG (AR |
(ii) Nothings is both hot and cold.
@17 g2 @AM 9 € Jhat 7
(ii1) Only citizens can buy land.

@FEg AeifaTaR i Fare #i)

8. (a) What are the two forms of general proposmmi” ‘Gﬁ& 1%:&133;}2& of eachof 3
them. .

H (General) 360 116 % ) e ereta av&m * >

(b) Construct formal proof of validity for each of tha f 4x3 =12

e gfeafm S ayer e frm;

(1) (O)[(Dxv Lx) oCx]
(x)(Ax> Ix)
(3x) (Lx-~ Ix) o
(3x)( Dx- A%) [ .@)CrE)

(i) All citizens who are not traitors are pres _cﬁicxals are citizens.
Some officials are not present. Therefore thef@ are traitors.

WWWMwwmmimﬂmﬁwﬁw@m

(iii) Socrates is mortal. Therefore everything is either mortal or not mortal.

D T | TR AR T AN A TR
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9. (a) Symbolize the following sentences by using quantifiers, variables, etc.
fesfafie amefas am, e diee g3 TR aSiefe ww
(i) Any girl can win it and only if she is Iucky

@~ (I forers #iee 3w @ mmﬁmﬁmmm
(ii) Children and children alone are innocent.

ezl g freaiR g Foda
(ii") Everything is beautiful.
1 g )

(b) Determine the invalidity of the following arguments by the method of truth
value assignment.

T QAR Bk e mﬁw‘t«wm T
(1) (x)[(Mx-Nx)>(Oxv Px)]
(0)[(Ox - Px)>(Ox v Rx)]
S () [(Mx v Ox) D Rx]

(i1) Some men are bohemians. Some men are amsts Therefore some artists
are bohemians.

(I P11 SRR | mmwﬁﬁzmmmﬁmma
: (1) (3x)(Jx-Kx)

(x)(xoLlx)  /n(F) (Lx«Kx}‘ .

Group-C
Rertot
10.  Critically discuss Mill’s Joint Method of Agreament and Difference.
firer wal AR 1% Rvwed S T
1L

Distinguish between scientific and unscientific explanations. Discuss with
examples the seven stages of scientific method.

WQWWHWWW]WWWWW
AR T

2x3 =6

3x3=9

15

4+11
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12,

13:

2105

Write short notes on the following:

FeEReeRr B wire Bt o

(1) Necessary and sufficient condition of an event.
R SRS ¢ e =)

(ii) Mill’s method of Agreement.
fier ol &S

Calculate the probability of the following cases:
frsfeie craafom e fAdf z%ew;

(i) In drawing three cards in succession from a standard deck, what is the
probability of getting three hearts?
(a) If each card is replaced before the next draw.
(b) If the cards are not replaced. -
5 AR O 2T R~ 2ot ol ot e e, fomih w2 zwem
9 A 07 : " ‘
(a) T #1728t O (StER st EaSt WAl 2 B memzm
(b) T core o fefieg = rem = o
(1i) What is the probability of getting at least on&”hcgd in three tosses of a
coin. v
a3 fh Juice fxam Fres T wwe: 93IR (@S TR TR F57
(iii) Suppose that, an urn contains 5 red balls, 10 white balls and 15 black

balls. If three balls are drawn at the same time, what is the probability
that they will be of the same colour?

@1 AR G A ¢ b w111 39, Sofb Al <91 9=k 3¢ B e 39 wew) oAl
(¥ <5 7 T 21 geeent fomibR «er 0ea R SRSl F07

1.0¢15

3x5=15



